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HISTORY
Paper III
Time Allowed : 2% Hours]" [Makimum Marks : 150

Note :— This paper contains Seventy five (75) multiple choice questions. Each

question carries two (2) marks. Attempt All questions.

1. Which among the following periods produced wild grain processing tools for

the first time ?

(A) Palaeolithic period (B) Mesolithic period
(C) Neolithic period (D) Early Harappan period
2, Identify among the following cultural periods when for the first time use of

capstones is witnessed ?
(A) Palaeolithic (B) Mesolithic
(C) Neolithic | (D) Megalithic

3. Which of the following foodgrains was cultivated for the first time in the north-

western parts of the Indian subcontinent ?
(A) Wheat (B) Gram
(C) Barley (D) Rice

4. Identify which cultural period among the following produced double hubbed

terracotta wheels :
(A) Neolithic (B) Mature Harappan |
(C) Late Harappan (D) Chalcolithic
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5. The use of iron was first discovered in which of the following cultural

assemblage ?
(A) Mature Harappa (B) Painted Grey Ware
(C) Northern Black Polished Ware (D) Megalithic

6. The philosophical concept of ‘Bahujanhitay’ was introduced by :

(A) Rigveda (B) Later vedas
(C) Jainism (D) Buddhism
& During the non-Harappan chalcolithic period the pace of development could

not attain urbanisation because :

(A) The climatic conditions did not allow
(B) The soil types were not favourable
(C) Availability of water was not easy

(D) Suitable technology was not available to tap the natural resources

optimally.

8. The first reaction to brahmanical dominances and the extremely ritualistic

religion of the Aryans can be seen in :
(A) TUpanishads (B) Charvaka

(C) Jainism (D) Buddhism
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9. Gandhar formed which number among the Achaemenid provinces as per Greek

historian Herodotus ?
(A) 20th (B) 24th
(C) 25th (D) 2Tth

iad

10. Identify among the following the correct meaning of the term

Rupadarshak
(A) Inspector of coins (B) Inspector of weights
(C) Inspector of inscriptions (D) Inspector of mines

11.  Who among the following first issued potin coins ?
(A) Mauryas (B) Shungas
(C) Satavahanas (D) Vakatakas

12.  Who among the following issued silver coins by immitating the saka coins

of western India ?
(A) Chandragupta Maurya (B) Chandragupta-I
(C) Samudragputa (D) Chandragupta-II
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13. Arrange the following in chronological order :

(@) Empire () Janapada

(¢) Jana (d) Mahajanapada
Codes :

(A) (a) (e) (b) (d)

(B) (e) (d) (a) (b)

(&3 (d) (a) (c) (b)

(D) () (b) (d) (@)

14.  Arrange the following titles in chronological order : |

(@) Chakravarti (b) Maharaja
(¢) Raja (d) Maharajaadhiraj
Codes :
(A) () (d) (b) (a)
(B) (d) (&) (a) (e)
(C) (a) (d) (&) (e)
(D) (b) (a) (e) (d)
15. Arrange the Buddhist councils in chronological order :
(@) Kashmir Council (b) Vaishali Counecil
(¢) Rajagrih Council (d) Pataliputra Council
Codes :
A @ ®) @ (©
(B) (e) (b) (d) (a)
(C) (b) (a) (c) (d)
(D) (a) (c) (d) (b)
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16. Match the books of List-I with the authors of List-II :

List I List II
(@) Mrichchhakatikam (z) Asanga
() Dasgitikasutra (i) Varahmihir
(e) Panchsidhantika (iiz) Shudraka
(d)  Yogachar (iv)  Aryabhatta
Codes :
(a) (b) (e) (d)
(A) (Zv) (ii7) (i1) @
(B) (zir) (tv) (i2) ()
(C) (i) (2) (zv) (iti)
(D) @ . (z2) (Zi1) (zv)
17.  Match the inscriptions of List-I with the kings of List-II :
List-I List-IT
(@) Nasik cave inscription (2) Pulumavi
(b) Maduban copper plate (iz) Harshavardhan

(e) Poona copper plate inscription (iii) Prabhavatigupta

(d) Mathura stone pillar inscription (iv) Chandragupta-II

Codes :

(@) (b) (c) (d)
(A) () (i1) (iit) (iv)
(B) (@) (€773 (iv) (2)
(C) (i) (tv) (@) (it)
(D) (iv) (6773) (73] (2)
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18.  Arrange the following in chronological order :

(@) Girnar inscription

(¢) Allahabad pillar inscription

Codes :

(A) (@)
(B) (b)
(C) (c)
(D) (d)

(b)

(c)

(d)

(@)

()

(d)

(@)

(b)

(b)

(d)

(d)

(@)

)

(c)

Hathi Gumpha inscription

Iron pillar inscription-Delhi

19.  Arrange the following in chronological order :

(@) Dharma Chakra Parivartan

(c) Sangam Age

Codes :

(A) (d)
(B) &)
(C) (c)

(D) (d)
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20. Mateh the books of List-I with the authors of List-1I :

List I

(@)  Commentary on Mudrarakshas (i)

) Brihatkathamanjari
(e) Matavilas Prahansa

(d) Rajatarangini

Codes :

(@) (b) (c)
(A) (£) (it) (211)
(B) (iz) (zit) (iv)
(C) (z2z) (iv) ()
(D) (iv) (ez) - (i),

(22)
(21)

(zv)

(d)
(iv)
(£)
(i)
(i)

List II

Kalhana
Mahendervarman
Kshemendra

Dundiraj

21. Arrange the following in chronological order :

(@) Govindchandra Gahadawal

(¢) Kirtivarman Chandela

Codes :

(A) (b) (d) (c)
(B) - fe) (a) (d)
(C) (d) (b) (a)
(D) (a) (c) (b)
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22, Assertion (A) : The megalithic culture primarily was rural in nature.

Reason (R) : Suitable technological expertise was not available to accelerate

the pace of development beyond subsistence level.

Select the correct answer from the codes given below :
Codes :
(A) Both (A) and (R) are correct land (R) is correct explanation of (A)
(B) Both (A) and (R) are correct but (R) is not correct explanation of (A)
(C) (A) is correct but (R) is incorrect
(D) (A) is incorrect but (R) is correct

23. Assertion (A) : The second urbanisation occurred in the middle Ganga plain.
Reason (R) : Fertile soil and fresh water were freely available.
Select the correct answer from the codes given below :
Code :
(A) Both (A) and (R) are correct and (R) is curre:ct explanation of (A)
(B) Both (A) and (R) are correct and (R) is not correct explanation of (;A}
(C) (A) is correct but (R) is false

(D) (A) is false but (R) is true
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24.

25.

Assertion (A) : Copper coins are discovered in a good number from almost

all the Kushana settlements for the first and last time.

Reason (R) : A large number of copper coins were produced and made available

during this period for common use.
Select the correct answer from the codes given below :
Codes :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both (A) and (R) are correct but (R) is not correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Assertion (A) : A major trend of urban decay is marked in the excavations

of Gupta period settlements.

Reason (R) : There is a serious paucity of coins and other ingredients of

urban life.
Select the correct answer from the codes given below :
(A) Both (A) and (R) are correct and (R) is fhe correct explanation of (A)
(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(C) (A) is correct but (R) is false |

(D) (A) is false but (R) is correct

T.B.C. : 08/17/ET—III 18
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26.

27.

Abul Fazl who has criticised Sultan Mahmud of Ghazni for ‘shedding innocent
blood’, is all praise for this Sultan and praises him in these words : ‘He achieved

things, good and great’.
Who is this Sultan referred by Abul Fazl ?
(A) Qutbuddin Aibek (B) Iltutmish
(C) Balban | (D) Alaud-din-Khalji
Which of the following pair/s is/are not carresti:-,.r matched ?
Sources Conversations of the sufis

(@)  Khairul Majalis (7) Conversations of Saiyid Muha-

mmad Gisu Daraz of Gulbarga

(b)  Saroor-us Sudur (i)  Conversations of Shaikh Nizam-

ud-din Auliva

(¢) Fawaid-ul Fuad (zit) Conversations of Saikh Hamid-
ud-din Sufi Nagauri

(d) Jawama'ul Kalim (iv) Conversations of Shaikh Nasi-
ruddin Chiragh Dehlavi

Coose the correct answer from the codes given below :

Codes :

(a) (b) ~(e) (d)
(A) () (i1) (iv) (iiz)
(B) (it) (1) (ii2) (iv)
(C) (iv) (iiz) (i1) (@)
(D) (iti) (i) (@) ©)
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28.  Identify the two historians of Delhi Sultanate who wrote their books with

the same title, i.e., Tarikh-i-Firuzshahi’ -

(A) Minhaj Siraj and Zia-ud-din Barani

(B) Amir Khusrau and Zia-ud-din Barani
(C) Shams-i Siraj Afif and Zia-ud-din Barani
(D) Isami and Zia-ud-din Barani

29.  Given below are two statements, one labelled as Assertion (A) and the other

labelled as Reason (R) :

Assertion (A) : Sultan lltutmish’s policies were greatly affected by the opinions

and the exhortations of the orthodox theologians.

Reason (R) : Sultan Tltutmish placated the wlema also by holding frequent

religious discourses in his court.
In the context of the above two statements which of the following is correct ?
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true.

T.B.C. : 08/17/ET—III 22
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30.

31.

32.

33.

“The Sultan enquired from the qazi, has the Shariat said anything about
the punishment of corrupt state-employees, who steal public money, accept
bribes, make incorrect totals etc. ? Answer was that the Shariat was absolutely

silent about public law.”

Identify this Sultan :

{A)‘ Qutbuddin Aibek (B) Balban

(C) Alauddin Khalji (D) Firuz Tughlaq

“Sultan Firuz Tughlaq took keen interest in repairing and renewing the
buildings of past kings and great amirs. One of the monuments had been
struck by lighting and Firuz Tughlaq not only repaired it but also raised
in higher.”

Identify this monument :
(A) Jama Masjid of Old Delhi (B) Jahan Panah
(C) Qutub Minar (D) Hauz-1 Khas

Which of the following Sultan made arrangements for the treatment of mentally

ill patients and kept them in the hospital ?

(A) | [ltutmish (B) Firuz Tughlaq

(C) Sikandar Shah (D) Bahlol Lodi

Shaikh Nuruddin was the founder of the :

(A) Chishti silsilah in Ajmer (B) Suhrawardi silsilah in Multan

(C) Firdausi silsilah in Bihar (D) Rishi silsilah in Kashmir
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30.

31.

32.

33.

‘e A w1 Ty TR Fn vHEd § 9 e wees sl & fag e
TER 1 G H 9F TS ST F e o T Ha €, fvad Faa e €, W
1 e A F0 3 2 IR O fe yriad geste S % A § faesge wEe
%iﬂ‘

T4 Godd & UEEH G

(A) FIIEH UFH (B) @eted
(C) arensem faerst @) frie Tree

‘g R e T QO geadl o 98 eFRI R SR TR YHRA] 1 A
st T FET § Teh ofe e | e ung § o W o e fagd
§ wfa vt of, frlS grem 4 7 fab svsl wowa s ek 39 SR S
i A

TH WRF FH TEdH FHIGC

(A) AT feel @t s At (B) @R

(C) Fgd H R D) B9-T T

fraferfad § @ fFg geam 3 ol R W SR % 3O @ e i SR
I oA H @ ?

(A) FogaHd © B Ry g

(C) fohex W (D) el SRl

g TEEA 1 e gw faatre S s 6 o2

(A) iR # o feetder (B) Hea H Gewasl faeirae
(©) foer # frei fawteer D) =R # =y fowfaen
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34.

35.

36.

37.

Who among the following gave to Jaunpur the title of Darus Surur and made
it a centre of culture, where men of letters and poets, scholars and saints

assembled and shed lustre on the capital ?
(A) Tbrahim Shah Sharqi  (B) Malik Mubarak
(C) Mubarak Shah Sharqi (D) Malik Sarwar

Who among the following Sultans of Kashmir realised the significance of getting
translated the popular works of the Hindus into Persian and those of the

Muslims translated into Sanskrit and Kashmiri for blending the two -

cultures ?
(A) Sultan Qutbuddin (B) Sultan Sikandar
(C) Sultan Haider Shah (D) Sultan Zainul Abidin

In which of the South Indian language did Kamban compose the version of

Ramayana in the eleventh century ?
(A) Kannada (B) Tamil
(C) Telugu (D) Malyalam

For whom did emperor Babur send from Agra to Kabul an inlaid ink-stand,
a stool, together with the alphabet of the Baburi script and fragments written

in this script ?
(A) Humayun (B) Kamran

(C) Askari (D) Hindal
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34. frefafed § e SHR F1 SEEET &1 TW I 3R @ ieplas o a6 |
el fogm ofK o @ & THGE 20 4 SR TEUE T yHewE @ S o ?

(A) TEM wWE TH (B) wiesh Hars®
(C) HIRE VG I (D) wiew TR

35. frefafed § @ HydR % fFe good 3 wegE fea & 9 i & 9o=a &
forn famgalt & wiag M1 1 A § U gim & TR SR R | 9rE

Hea o & ?
(A) oo FageH (B) gear fas<

(C) g™ T R (D) Yo S et
3. =fiy uRd F fEg v A FeA 4 THEw #1119 yEeEl A wead A g ?
(A) F2 (B) e

(C) T (D) YeETad

37 =R Y A0 e fAT T Te aveH, UF ©d % g el fafd # e
w39 faft § fog T wE #® wEga oS oa ?
(A) 7 (B) A

(C) TRl (D) feema
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38.

39..

40.

Which of the following is not paired correctly ?

Emperor — Birth Place
(A) Akbar — Umarkot
(B) Jahangir — Fatehpur Sikri
(C) Shah Jahan — Sirhind
(D) Aurangzeb —_ Dahod

Which of the following pair/s of author and source is/are not correctly

matched ?

Author — Source
(@) Gulbadan Begum - Humauyn Nama
() Bhim Sen - Nuskha-i Dilkusha
(¢c) Jauhar Aftabchi - - Chahar Chaman
(d) Khéﬁ Khan - — Muntakhab-ut. Tawarikh

Select the correct answer from the codes given below :

Codes
(A) (@) and (c) only (B) (0) and (@) only
(C) (a), (b) and (c) only (D) (c) and (d) only

Akbar and Abdullah Khan Uzbek, respective emperors of India and Uzbekistan,

agreed to fix which place as the frontier of the two empires ?

(A) Hindu Koh or Hindu Kush (B) Attock

- (C) Balkh ' (D) Badkhshan
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38. fm § 4 #@ gm wd gufem T ¥ 7

EIEHIES - T WA

(A) FHFHH = ST

(B) SRR — HAR el

(C) wmEsTEl — i

(D) SR — S

39. frefafen oresl @ 9d 3 § =FE gm ud gufen 16T ?

GieED = L

(@) TEET ST — AT

(b) T — TH-T fease

(¢) L ATHeTEHl = Er RGN

(d) ©T% @M -— e -3a-qaii@

™ T MU R W OWE I H T Fifw

FE

A (@) @ (o) (B) (b) W (d)

(C) (a), (b) T (c) D) (c) T (d)

40. YA R ITEEER F YHE IEeR AN Tsgoct G Iaee Y TIE B S
qar=l &1 H e w9 4 i w3 o fag weme gu 7

(A) feg = swan fog 3w (B) 2=F

(C) =om (D)
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41. Institution of Suyurghat came to India with the Mughals frumzt
(A) Turkey (B) Mongolia
(C) Central Asia (D) Abyssinia
42, Who among the following were the tutors of prince Salim ?
(A) Abdur Rahim Khan-i Khanan and Shaikh Abdun Nahi
(B) Mulla Saleh and Mulla Jiwan
(C) Atagha Khan and Faizi
(D) Ustad Khuda Quli and Bagi Muhammad

43.  Which of the following emperors issued instructions to construct Bulghar Khana
(free eating houses) in crown land and jegirs “where cooked food might be

provided for the poor, so that residents and travellers both might reap the

benefit ?”
(A) dJahangir (B) Shah Jahan
(C) Aurangzeb (D) Farrukh Siyar

44. Purpose of Jahangir in instituting al-tamgha or altun-tamgha Jagirs was :
(A) to favour a certain group of nobility
(B) to stop granting watan jagirs

(C) to allow every noble to have his native place under a permanent

assignment

(D) none of the above
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41.

42.

43.

44.

QIO G381 el o W9 9 ° we g oo ?
(A) TH (B) wwiferan
(C) ¥ea uferm (D) afeifar
frafafes 4 @ =7 R 9edm & fias 9 2
(A) TEEM GH-T GAH T TG Hg=el

(B) Hoen Wele a9 goell Sied

(C) @M TH aa st

(D) SHE R Fol a9 T T

frferfen & 9 o9 srwme 3 aew o fr afemr 9 s switt § ger
(w0 4eerd) et s sl e & A g gen m Suess U S il
il o franfedl @R A 9 @ @ saE weE faa ws )

(A) SRR (B) gt

(C) SR D) wEGER

HA TN ST AI-aHN SR H & FH F U9 T@ri &1 Reg o
(A) IFE % TH GE W R EER TEAR % fau

(B) 99 MRl % 3T&ed @ Fora T

(C) Y% R F TR MG & =W A U9 T9H @ F 39
(D) 39gF | | =
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45.  Which of the following European travellers observed that queen Nurjahan
constructed pleasure gardens, palaces and sarais throughout the land in order

to enhance her image and reputation ?

(A) F. Pelsaert (B) Ovington

(C) Bernier (D) Manueei

46. Keeping age factor in mind, arrange the list of following sons of Emperor

Shah Jahan from eldest to the youngest :
(@) Dara Shikoh (b) Murad

(¢) Shah Shuja (d) Aurangzeb

Choose answer from the codes given below :

Codes :

(A) (a) (d) (b) (c)
(B) (@) (b) (c) (d)
© (c) (a) ®) (d)
(D) @ (o) (d) (®)
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45.

46.

= 1 9 form gOdi =i 3 feool =57 & e e 3 QO 1§ ae<eEs®

amil, Heel @ wgE w1 v e sfa aw wfafs # owem & fau fewm oo 7
(A) TE T _;(B}air%haﬂ

(C) R (D) ==t

W & 9IF § @ gu e R T e wese % g o gE w9 q 8R
& HATER Tafi F

(@ TRIEER : b) TR

() V& Y[ (d) SRS

9 few Moo H ¥ WE IW H o9gd HL

e

(A) (a) (d) (b) - ()
(B) (@) (b) (c) (d)
(C) (c) (a) (b) (d)
(D) (@) e ) (b)
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47.  Which of the following statements is not correct ?

(A) In 1603, an imperial envoy coming back from Bijapur, presented a hookah

with tobacco to Akbar.
(B) Within twenty years Jahangir banned it.

(C) By Shah Jahan’s reign, tobacco found a place in the perfumery of

aristocratic households.

(D) It was recorded among non-taxed crops of sarkar sehwan of suba sind

in 1634,
48. Which of the following statements are correct ?

(a) Guru Gobind Singh’s disciple Banda Bahadur raised a massive rebellion

during his life time.
(b)) Not many Sikhs joined this rebellion.
(¢) Banda Bahadur was executed in 1716.

(d) There was tradition of an annual ‘Sarbat Khalsa’ at Chak Guru (Amritsar);

each chief tended to carve out a separate territory for himself.

Select correct answer from the codes given below :

Codes :
(A) (a) and (b) only - (B) (b)-.and (c) only
(C) (¢) and (d) only (D) (a) and (d) only
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47.

48.

frefafes § 4 S FoF WG 7@ ¢ 7

(A) 1603 T HSTR § Thedt AN T TH WHHA ga A AHR ] THEE 6 WY
T T e fEa

(B) =g =ul & 3=y WerMk 7 38 R wfdery & fear

(C) wrEeE % wETEE § sfem g oferd § geidemen (wEel) #
T BH A

(D) 1634 T Ta o &1 TR wear H L fed wHel § gow! <5t fFA T

fre A B FE W@ % 7

() T fER fir & R W= gegt 7 IR e § TR e e
IERIE

(b) =Ed W fowa T foge # wifme 7@ g

() 1716 H =<1 FEgy @1 a4 & fem T

(d) =% & (IAW) T we wWeh @’ w59 oft | weds TER (%)
1 o fow TF gup W S A o

Fr few o R d ¥ WA I H W HL e

Tﬁ 3
(A) (a) 3 (b) (B) (b) 3 (c)
(C) (¢) 2 (d) (D) (a) 3T (d)

T.B.C. : 08/1T/ET—III 35 PT.0,



49.  Given below are two statements, one labelled as Assertion (A) and the other
labelled as Reason (R) :

Assertion (A) : Jean de Thevenot, a French traveller writes that the people

of Burhanpur commonly do not drink the water of Tapti
river.
Reason (R) : The water of river Tapti was very sweet.
In the context of the above two statements which of the following is correct
Codes :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true
50.  Arrange the following Peshwas chronologically :
(@) Baji Rao 1 (b) Madhav Rao
(¢c) Balaji Vishwanath (d) Balaji Blaji Rao

Select the correct answer from the codes given below :

Code :

@ @  ® @ ©
B @ © @
© (0 (@) () (b)
™ @ G @ ©
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49. ¥ D Sea= ¥ MU E U # wAT (A) 9 T H WO (R) FE OTE

FHUF (A) ; B AT SE S Serfe fawm ® f6 @A o o WA At e
H T TG W T

HIOT (R) : ar<il 61 &1 YHE &gd Hier o0
ST gFl adaed o Wl H FW Wl & 2
Fe
(A) (A)aiﬁnmém’iuﬁf%aéﬂm]ﬁmﬁmm)%u
(B) tA}ﬁt(RJaﬁﬂﬁ%ﬁﬁ,'(A}ﬁﬁﬁmmﬁﬁ 2l
(€) (A) " & fFg (R) Tem €
(D) (A) T & g (R) & I

50. r feu Ty YwEEl B SR FOEAER FEEd S
(@) =SRE I | (b) TIEETE

() S favee (d) aTS arsiE

A feu U o B | WE TW W S W

= 2

(A) (d) (b) (@) ()

(B) () (e) (d) (b)

(€) (c}- (a) (d) (b)
| (D) (@) (b) (d) ()
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51. The Regulating Act, 1773 fixed the term of the court of Directors at :

(A) Two years (B) Three years

(C) Four years (D) Five years

52. Raja Nand Kumar lodged a complaint against Warren Hastings that he had

taken a bribe from the widow of Mir Jaffar. How much was the amount of

bribe ?
(A) 2.50 lakh (B) 3.00 lakh
(C) 3.25 lakh (D) 3.50 lakh

53. The minor boy of which of the following dynasty was made the king of Mysore

by the English after the defeat and death of Tipu Sultan in the Fourth Anglo-

Mysore war in 1799 ?

(A) Wodeyar (B) Nadiyar

(C) Nair (D) Pandya
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51,

52.

53.

1773 3. & TgAfen @R I FR AF ToEed &1 @ty fra fag st 2
(A) T Td (B) 7 =d
(C) =R a9 (D) 499 o9

T FFAR 3 I R & fawg AR T = fauen 4 foag &7 = fowem

& fgag § fean o o 2
(A) 250 @@ (B) 3.00 @@
(C) 3.25 @Ir@ (D) 3.50 @

1799 . & = ArA-HR I H Y YEH F WEF G Y F 3909 00

1 fre fefafen o9 & Tefas @os # 5g0 1 WY s 2
(A) dfETR (B) Hifear

(C) T (D) wvEd
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04.

55.

56.

587.

Which of the following statements about the Indian Economic Drain during

the colonial period is not correct ?

(A) Large money spending on ‘Home Charges’

(B) Interest on foreign debts

(C) Creation of a surplus fund of £ 2 Billions

(D) Government policy of purchasing stationery from England
Who incorporated Sindh into the British Empire ?

(A) Lord Dalhousie (B) Lord William Bentinck
(C) Lord Hardinge (D) Lord Ellenborough

After which war with Burma (now Myanwar), the English made Rangoon

as the capital in place of Mandalay ?

(A) First Anglo-Burmese Warl (B) Second Anglo-Burmese War

(C) Third Anglo-Burmese War (D) Fourth Anglo-Burmese War
Which of the following was not the recommendation of the Hunter Commission ?
(A) Municipal and District Boards to control the Primary Education

(B) Improvement in vocational education

(C) Private institutions to be engaged for Higher Education

(D) Women education to be made compulsory upto the 8th class
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54. Fr & § = 9w nfaEfmedy urda fem & 9d & o § w98
%2

(A) 'TE A W FET VR YN K AT

(B) fagsit &t =1 =9
(C) = fafgem die =1 aftww % st =
(D) 3 ¥ SEA-9rel @ied F SR Al

55. fafew o 4 oy = feaq faemr 2

(A) wrE SERet | (B) @re fafeem wfesw 3
(C) =g 7fen 3 (D) @& Ter=d A
56. =H (3@ THR) % WY fF9 9% & UvER A0S 7 Wied & WE W U F§ A9
RS IE G 12|
(A) 3gH Tol-sH 43 (B) fadta drel-=smi g3
(C) T Tre-=mt I3 (D) =g Tel-ami 35

57. T 0 § e g aEm # fawiw w8 o 2
(A) maﬁm.m&nmé@mw{ﬁfmﬁﬁw fefgae adg =1
(B) =aaifas foan ¥ gur
(C) veu T & fau fsit Wl 1 @
(D) eWeel Fa ao w-fen AfEd w5
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58.

59.

60.

61.

In which session of Indian National Congress, the first Indian woman President

was elected ?
(A) Kanpur, 1925 (B) Calcutta, 1917
(C) Madras, 1927 (D) Faizpur, 1937

Which of the following Act placed the British I.C.S. bureaucracy under the

Indian Ministers for the first time ?

(A) Indian Councils Act, 1892

(B) Morley-Minto Reforms, 1909

(C) Government of India Act, 1919

(D) Government of India Aect, 1935

The Hunter Commission was appointed to Report on :

(A) The Jallianwala Bagh Tragedy (B) The Salt Satyagraha

(C) Gandhiji’s call on Do or Die’ (D) The murder of a British officer

Which of the following is nct correct about the decision to start the Non-

Cooperation Movement by Indian National Congress in 1920 ?
(A) It was put to vote

(B) It was not a unanimous decision

(C) About 40% delegates voted against it

(D) Hardly 10% voted against it
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58. WG TR W % g AfMEvE # u¥d uRdE digen @ dey g o ?
(A) AR, 1925 (B) er, 1917
(C) W3, 1927 (D) TR, 1937

59. fa= Ty wfufree 3 fafew LLC.S. AFEME = 999 9 9RdE 4950 & a9H
e ?

(A) Efea wEfes ta, 1892 (B) wei-faar fowfds, 1909
(C) 9rd SR sfuf=™, 1919 (D) YT TR Afafad, 1935

60. T sm W Fraf feem RO Sam @ F faw g 2

(A) wiferafaren 9 g W

(B) “H& HAWE T

(C) Tt & ‘HU W W' F @A W
(D) TF s AHE Fl T W

61. 1920 % # YR UG HEG TR AEeAN ALEH Ged % Mg o ar # e
w1 9@ T 8 7

(A) % fau #a (Vote) Feaml T

(B) T& wag™d g1 FEen T foan man

(C) & 40% wfafafedi 3 39 favg w0 e
(D) Fvwa ¥ 10% A w9 faeg #a foa
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62.

63.

64.

The first woman who joined the Rani Jhansi Regiment of Subhash Chandra

Bose, was :
(A) Manwati Arya (B) Indu Banerjee
(C) Lakshmi Sehgal (D) None of these

Who was made the Permanent President of the Constitutent Assembly ?
(A) B.R, Ambedkar (B) K.M. Munshi
(C) Rajendra Prasad (D) Sardar Patel

Match List-I with List-II and select the correct answer from the codes given

below :

List-I (Persons) iist-lI (Associations)

(@)  Gopal Krishna Gokhale (1)  Bombay Presidency Association
(6) Dwarka Nath Tagore (it)  Sarvants of India Society
(¢)  Kanshi Nath Trimbak - () Indian Association
(d)  Surendra Nath Banerjee (iv)  Landholders society
Codes :

(@) (b) (c) (d)
(A) (£ii) (&) (iv) (i1)
(B) (22) (iv) (¢) (i)
(C) (i11) (i) (iv) (2)
(D) (iv) (i) (i) (i1)
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62.

63.

64.

gurae =9 gr e I g WA | onfre 29 arelt wom Afeen wE o 2
(A) AT (B) g =il

(C) <& T (D) 37 § FE T

ofgud 9w & @ wey 5 a9 ™ 7

A) . W TR A ®) ¥ . g w

(C) T g & (D) ®ER 9H

g1 % gH-11 o 19 gafem ®ifee aon o |8t S & 99d e g @
FIAT

ei-1 (eafer) geEt-11 (TEifaTy)

(@ T FET TRE () = AT TEifRuE
(b) BREMEI TR (i) A=\ w 3fvea S
(c) g e (i)  3MvsHA wHIfETE
(d) F&EAY T (v) Ticdleed TR
e

(a) (b) (c) ()
(A) (D) (1) (i) (i)
B) @) (iv) (i) (1it)
€  Gii) (i) (i) i)
O () (i) (iif) (i)
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65. Match List-I with List-II and select
below :

(@)
(b)
(c)
(d)

List-I (Authors)
S.N. Sen

B.G. Tilak
Dayanand Saraswati

Ram Mohan Roy

Codes

(A)
(B)
(C)
(D)

66. Match List-I with List-IT and select the co

(@) (b) (c)
() (iv) (i)
(i) (i) (éif)
(zif) (iv) (2)
(iv) (i) (111)

below :

(@)
(b)
()
(d)

List-I (Authors)
C.A. Bayly
M.N. Srinivas

T.R. Trautmann

Codes -

S. Gopal
(a) (b) ()
(2) (iv) (ir)
(ii) (i) (iv)
(zi1) (1) (iv)
(iv) (111) (i)
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(1)
(@)
(122)

(fv)

(d)

22))

(z)
(i)
(£)

(d)

(i)

(21)
(i)
(it)

the correct answer from the codes given

List-II (Works)

The Precepts of Jesus
Eighteen Fifty Seven

Ved Rahasya

The Ancient Home of the Aryans

rrect answer from the codes given

List-II (Works)

Social Change in Modern India
The Viceroylty of Lord Ripon
The Local Roots of Indian Politics
Aryans and British India



65. YHE-I ® I & WY gafad ST 99 d9 9@ SR F 999 5 T2 |

Hfw

get-1 (eEe)
(@ TH. T &
(b) .51 fTow

() TAF< |EEdl

(d) THEET 4

&

(A)
(B)
©
(D)

(a)
(i)

(iz)
(iii)

(iv)

(b)
(iv)
()
(iv)
(if)

(c)
(zi)
(211)
63

(iif)

ge-11 (F)
() & oy e Sfww
(i) M TEEE 8
(i) 9 wH
Gv) B dwm= 2m afF K o=

(d)
(122)
(@)
(i2)
(1)

66. THI-I F FIAI-II F WA FAe FIOC a9 AT WE I F 99 [9 FwE W

FHifST -

gelt-1 (Fraeh)

(@)  HI. T e

) T . fEm

() €. #AN. LeHH

(d) W T
G
(a)
(A) (z)
(B) (i1)
(C) (i)
(D) (iv)
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ge-11 (Ff)
(i)  Hure == 39 HiEd sfed

() & amEe #ife o {99
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67. Given below are two statements, one is labelled as Assertion (A) and the

other as Reason (R) :

Assertion (A) : Raja Ram Mohan Roy is called the father of Indian

Renaissance.
Reason (R) : He wrote a book on Christianity.
In the context of the above statements, which of the following is correct ?
(A) Both (A) and (R) are true and (R) is the correcct éxplanatinn of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

68. Given below are two statements, one is labelled as Assertion (A) and the

other as Reason (R) :

Assertion (A) : The promise contained in the preamble of Government of

India Act, 1919 was followed firmly by the government.

Reason (R) : It was certainly a definite step towards the achievement of

Responsbile Government.
In the context of the above statements, which of the following is correct ?
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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67. T q 9w T M T, TF T HmEA (A) 99 W F FWOT (R) FE O ¥
HUT (A) : TS THERET T F EAE AR F OS9H Fel T 8
RO (R) : 391 396 94 W Uk G fadl |
SwgH Fadedl & ued A Frefafed d 9w wé g 2
(A) (A) 71 (R) < W &, T (A) B R = (R) R
(B) (A) 7= (R) <Fi W& €, fog (A) = @& = (R) 7l &

(©) (A) w@ %, fog (R) Tem 2
D) (A) T & fFg ®R) W@ 2
68. N T T KU MU T, UH w wEA (A) 99 T FH BROT (R) Fal TME

FIT (A) : IR GFR Afafa=yg, 1919 &1 w&aa d fFu 70 95 & WHET |
gl o AT

&HROT (R) : 97 F5=E o WaR & wa &1 =t oy § & fafv=a 2w a1
I gl % wed § frafafea § @ @ @@ o 2

(A) (A) A1 (R) €F1 B € @91 (A) &1 ¥@d =re (R) ¥

(B) (A) 7 (R) A @ ¥, frg (A) B w@ e (R) T ¥

(C) (A) u& %, fFg (R) o €

D) (A) TEq &, fhg (R) W&t B
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69.

70.

Given below are two statements one is labelled Assertion (A) and the other

as Reason (R) :
Assertion (A) : Tipu Sultan became a member of the Jacobian Club.

Reason (R) : He made serious attempts to develop Trade and Commerce

in the kingdom.
In the context of the above statements, which of the following is correct ?
(A) Both (A) and (R) are true and (R) is the correct eiplanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation (;f (A)
C) (A) js true but (R) is false
(D) (A) is false but (R) is true

Given below are two statements, one is labelled as Assertion (A) and the

other is labelled as Reason (R) :

Assertion (A) : The peasants participated in the Revolt of 1857 in many

places.

Reason (R) : The land revenue demand of the British Government was very

high.
In the context of the above statements, which of .the following is correct ?
(A) Both (A) and (R) are true and (R) is the correct e_xplanation‘of (A)
(B) Both (A) and. (R) are trué but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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69. 9 T T U Y ¥, TH H wAF (A) TA T F ®ROT (R) Fa T T ;o

FAT (A) : Y Goar SHIfE Tl H GG T |

T (R) : T H SR T e @ w5 R e e v e
e e & w  Freaten # @ S W@ E

@ @ ¥R ® A @ E @) F T e ®

(B) (A) @M (R) 3H W&l %, T (A) &1 W& = (R) i gl

©) (A ¥& g, g (R) T&@ 2

D) (A) Te@ %, fog (R) @& @

70. ﬁ%éwﬁqmﬁ,@a%W(A)mw%,wwﬁm(R)":
vW(A):1857%%1%@%'1?{3@6—@%@%%%%?1!_
W(R)‘:mmﬁ&—wqﬁagaafwzm ‘

S aEaed & wed § frefafon § ¥ S W@ 3 2

A) (A) IR R) IE w@ E, a0 (A) F & = [R) 2
(B) (A) T (R) I ®& T fFg (A) F1 W =ew (R) &
(C) (A) W& %, fFg (R) T B

(D) (A) ToE@ ¥, fFq (R) T &I
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71. Given below are two statements, one is labelled as Assertion (A) and the

other as Reason (R) :

Assertion (A) : The Second Round Table Conference failed in London without

achieving anything.

Reason (R) : Ghandhiji made a pre-condition for the release of Bhagat Singh

from the prison.
In the context of the above state;nents, which of the follo'wing is correct ?
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true bﬁt (R) 1s not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

72.  Arrange the following Governor Generals in correct chronological order, and

choose the correct answer from the codes given below :

(1) Lord Minto (2) Sir John Shore
(3) Lord Wellesley (4) Lord Co'rﬁwanis
Codes :

@ (4) 2) - (3)

(B) (2) 3) (1) (4)

© @ o 3) @)

(D) (4) (2) (3) (1)
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71.

72.

d Q gwder U T §, UF F HUT (A) 9 TR F HAW (R) FF T T
FIF (A) : & A fgdn Naww FwE T 5o 79 F g

HROT (R) : TMefist 3w e #1 9@ ¥ f@E &1 9d-36 (pre-condition) wEt
ot |

Ww&ﬁ%ﬁﬁﬁﬁmﬁmﬁﬁaﬁww%?

(A) (A) @1 (R) 1 W@ &, 991 (A) #1 W& =en (R) 2

(B) (A) @ (R) <H & ¥, fohg (A) #1 WEl =@ (R) 7 2|

(C) (A) wé &, fog (R) Tor@ 21

(D) (A}m%ﬁﬁ{ﬂmﬁ%u__

frefafen Ter-ste i FermagaRr st S aon 99 e o Ed 4 wd

IR F 9T FHSC

(A) @re 5 (B) W WA ¥R
(C) e Jereret D) wE HHaTe"
e ¢

@a @ (4) 2) 3)

B @ (3) (1) (4)

© @ (1) 3) @)

D) @ 2) @ W
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73,

4.

75.

Consider the following statements and select the correct answer from the codes

given below :
(1) Cripps Mission Plan accepted the partition of India.
(2) Awadh was annexed to British dominions in 1856.

(3) A separate Pul:;]ié Works Department was opened in the time of Lord

Curzon.

(4) Nehru Report proposed the Fundamental Rights.
Code :

(a) (b)
(A) (1 (3)
(B) (2) (4)
(C) (3) (1)
(D) (4) (3)

Which Constitutional Amendment added the term ‘Secular’ in the Indian

Constitution ?

(A) 35th (B) 40th

(C) 42nd (D) 50th

Books and Records are the primary sources of data in :
(A) Participatéry Research (B) Clinical Research

(C) Laboratory Research (D) Social Sciences Research

T.B.C. : 08/17/ET—III 54



73. T sl W faeR wifee au W@ SW & 999 A FE g e
(1) o foem @m 7 yra & fAysE = Ssr fFa |
(2) 1856 . H @y w1 3NN T A faerEn
(3) @€ w54 & U9 & YIF @ Ha fawm =4

(4) 7w R 3 Aifas fusr wafag feu)

E T

(@) (b)
(A) (1) (3)
(B) (2) (4)
(C) (3) (1)
(D) (4) (3)

74. THY wautTR TENEA % g0 CvE-TRUE’ U & WA SfeuE d S fem § 2
(A) 354 (B) 404
(C) 42d (D) 504
75. eh qu ferd go-dd & ol § feas § 2
(A) wEwifiar ¥y H (B) SRI-SUaRcHE WY H
(C) varmmen vy # (D) w9e-fagE wmy |
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